


éraphing Quadratic Equations

y=ax’+bx+c

S+ePS 40 QROPN O QUOROHC eOu0HON:

Step 1: Find the axis of symmetry.

Step 2: Find the vertex.

Step 3: Fill in a table of values using your calculator.
Step 4: Graph!




Topic: Identifying Quadratics Roots

Date:

Main Ideas/Questions Notes

pofiifion locations where the graph

crosses the x-axis

Also caled... | Solutions

x-intercepts  zeros
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Roots: (|}0) ( )3_&< ‘_|_\
1.) Calculate AOS: x = -b/2a

2.) Plug AOS into original function.

3.) Put vertex coordinates in the center of the
table.

4.) Fill in the table.
5.) Plot the points and connect the curve.

6.) Determine the x-intercepts.






Axis of Symmetry: x |y
Vertex: ma
Domain: E
f
Range: E_




Ex. 3) What is the equation of the graph shown?

A y=-x*+2x-1
B. y=-x* - 2x -1 "
C.y=x"-2x+1
D.y=x*+2x+1 ;

\

(Does it have a maximum
or a minimum?

|dentify the AOS and vertex.
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Exit Ticket

For the function below, list the following information.
y =x*-8x +12
Axis of Symmetry:

Vertex:

Maximum or Minimum:

Domain: Range:

Roots:




